HLAE s$tHxsERARBEIERYL  Application-specific gearbox NEUGART

L
m—FTZ R TERIE The unique planetary gearbox
KAZTIMNENBE R - &% with certified hygienic design - ideal
ER AR E 2 ik for reliable cleaning processes
#1189 HLAE B 5LH): EREHEFREREZREENEN Our HLAE is unique: It is the world's first planetary gear-
PAEBGIHMTEREN — BEERE, TETEREIRT, box in a certified hygienic design — flexible without a radial
BMaEEKR, XETESE. E_RETAFENBIUE M 48, bolt, powerful and yet easy and quick to clean. It was deve-
Flan®lzs, ikmS | A, loped specifically for applications in sensitive areas such as

pharmaceuticals, cosmetics and food.

FEHE
Nominal output torque 15- 171 Nm

( G )
ZEA

Radial force 450- 1450 N
( D )

a1
Axial force 550 - 2500 N

( CE— )
EIFZIEIRR )
Torsional backlash 7 - 12 arcmin SR

( CE—— ) Frame sizes

FriPER
Protection class IP69K

70 90 110

148



HLAE &5+ 2 R F B RuE

®)
O

® &

Application-specific gearbox

SEXP4F R L A BROEAL

Application-specific gearbox

ek F1E [E7eE
Equidirectional rotation

EfmLE=
Round type output flange

REhE R

Rotary shaft seal

’ ~
7= o l, \
TEERSR S\
Planet carrier in disc design ‘\|:|: M ,’

~ 7’

s SE e o M VN A VRIS

Detailed explanations of the technical features starting on page 173.

[EI5AR IR
Coaxial gearbox

BHiS
Spur gear

R BRI

Low-friction deep groove ball bearings

BHIRHEAEKE LR

Extra long centering collar

AiE: FFKM Z3F
Option: FFKM seal

veockrT
L

HLAE

‘ 149



HLAE

5 3

150

s sdr sl .
HLAE #AR#&#  Technical data NEUGART
Code | BuRH S Gearbox characteristics HLAEO70 HLAE090 HLAE110 p™M
ERE (Lion) Service life (Lion) t h 30.000
98 1
AT Efficiency at full load® n % = 5
RETERE Min. operating temperature Toin c -25
wme L1ERE Max. operating temperature Tonax 90
PR Protection class IP69K
F | ERfEE Food grade lubrication SRS (RE5E8) / Grease (lifetime lubrication)
REMNE Installation position {£% / Any
S |FnEEITZERE Standard backlash j i <10 <7 <7 !
T 5 andard backlas| arcmin
TSRS k ' <12 <9 <9 2
N . . Nm / 2,3-3,1 6,6-8,7 14,7-19,5 1
NI E @ Torsional stiffness® c /
AR ¢ arcmin 2,2-3,2 6,6-9,0 13,5-20,5 2
2,1 3,8 73-74 1
RN EE Gearbox weight® m ki : . =
TR ¢ ¢ g 24-25 43-45 8,7-9,0 2
e FEA: N 1.4404 - BRI (R,<0,8 um)

S | FERIARIRRE Standard surface Housing: Stainless steel 1.4404 - electropolished (R, < 0,8 um)
BITRE Running noise® Q, dB(A) 58 60 65
ETFREENMNEZNHZE AL | Max. bending moment based
B on the gearbox input flange® M, Nm 8 16 40
i A T Output shaft loads HLAEO70 HLAE090 HLAE110 p™
20,000 h #&[E19® Radial force for 20,000 h®®© F. 20.000n 450 900 1450
20,000 h #h[E)19© Axial force for 20,000 h®® Fa20.000n 550 1500 2500
30,000 h &[EF34)16) Radial force for 30,000 h®® F\ 30.000n N 400 600 1250
30,000 h 4[5 /3616 Axial force for 30,000 h®)® Fas0.000n 500 1000 2000
RAREE SO Maximum radial force® Frsat 1000 1250 5000
B A4HE SO0 Maximum axial force®(™ Fastat 1200 1600 3800
20,000 h ffig F15EeD Tilting moment for 20,000 h®™ | My 200001 N 22 49 109

m
30,000 h {ig} HEEEO Tilting moment for 30,000 h®™ | My 30.0001 19 33 94
BEIRE Moment of inertia HLAEO70 HLAE090 HLAE110 p™M
0,065 - 0,135 0,753 - 0,866 1,579 - 2,630 1
R=E@ Mass moment of inertia®® J kgcm?
AR 9 0,064 - 0,131 0,740 - 0,983 1,569 - 2,620 2
O RIRHLRH (" Number of stages

(2

@

TEENEL AR MEERT#E Tec Data Finder #% - www.neugart.com
BEERIEAL m B ZEMINESEA n,=3000 min' A XGRS, i=5

@ HAREAER" (£ :kg)=0.2x M,/ BHKE (84 m)

* BHEENRAE
* R PHEERNREME

(5

(6

LU D A

()

HIERL =100 min-' BOH L IAE IR 90 .

B Ton, F, Fa AR EHIRGREREGN, REFERE BIES) .

FIF NCP $3fRA#ITEITIZIT - www.neugart.com

(2

The ratio-dependent values can be retrieved in Tec Data Finder — www.neugart.com

() Sound pressure level from 1 m, measured on input running at n,=3000 rpm no load; i=5
4 Max. motor weight* in kg = 0.2 x M,, / motor length in m
*with symmetrically distributed motor weight
* with horizontal and stationary mounting
) These values are based on an output shaft speed of n,=100 rpm

(6

(7

Based on center of output shaft
Other (sometimes higher) values following changes to Tay, F,, F,, cycle, and service

life of bearing. Application specific configuration with NCP — www.neugart.com




5

HLAE #AR%#  Technical data NEUE:RT
e Output torques HLAEO70 HLAE090 HLAE110 iv | p@
28 85 15 3
33 87 155 4
30 82 171 5,
25 65 135 7
18 50 120 8
15 38 95 10
33 87 157 9
BE i 33 80 171 12
B HE@ Nominal output torque® Ton Nm a3 " = "
33 87 171 16
33 87 171 2,
30 82 171 25
33 87 171 32
30 82 171 40
18 50 120 64
15 38 95 100
45 136 184 3
53 140 248 4
48 131 274 5,
40 104 216 7
29 80 192 8
24 61 152 10
53 140 251 9
= 53 140 274 12
A Max. output torque® Tomax Nm = 31 o4 "
53 140 274 16
53 140 274 2|,
48 131 274 25
53 140 274 32
48 131 274 40
29 80 192 64
24 61 152 100
D ZEIEE (i=ny/ny) " Ratios (i=n;/n,)

B
s

IR B

FIFA NCP 3t A#ITE &It — www.neugart.com
T4 (IREG A BTROBUE: SRR T

) SVFH T $H5EH30.0005%; B 166 T

Number of stages

Application specific configuration with NCP — www.neugart.com
Values for feather key (code “A”): for repeated load

30,000 rotations of the output shaft permitted; see page 167

)
)

=

5 2 5 B =
£

@
388 3

o

151

HLAE



HLAE

5 3

HLAE #A#%#  Technical data NEUE:RT
Lfankaibic) Output torques HLAEO70 HLAEO90 HLAE110 iV | p@
56 170 230 3
66 174 310 4
60 164 342 5 ;
50 130 270 7
36 100 240 8
30 76 190 10
66 174 314 9
- 66 174 342 12
A= Emergency stop torque® Tastop Nm o6 ™ 242 s
66 174 342 16
66 174 342 20 5
60 164 342 25
66 174 342 32
60 164 342 40
36 100 240 64
30 76 190 100
AR Input speeds HLAE070 HLAE090 HLAE110 i | p@
4000® 2700 2000©® 3
4000© 3000 2000 4
4000 3400 2150© 5 ]
4000 3500 26000 7
4000 3500 2800© 8
4000 3500 30000 10
4000 3500 24000 9
Ton 1 S1 BTRITEIIMEMANEE | Average thermal input speed at . 4000 3500© 24501 12
00 Tovand S1460 v | min 4000 3500 25500 15
4000 3500 26500 16
4000 3500 28500 20 5
4000 3500 2950 25
4000 3500 3000© 32
4000 3500 3000 40
4000 3500 3000 64
4000 3500 3000 100
A N R@ Max. mechanical input speed® Nitimit min"! 13000 7000 6500
D EEAEE (i=n/ny) " Ratios (i=n,/ny)
2 RIRHLRE 2 Number of stages
3 f3F 1000 & 3 Permitted 1000 times

=

Application-specific speed configurations with NCP — www.neugart.com
See page 167 for the definition
Average thermal input speed at 50% T,y and S1

FIF NCP &R AEIHEEE — www.neugart.com
EXESNE 166
7 50% Ty MIHAN S1 AT HFIHRIMNGER

G}

G}

3

2 g9 & 2 p =

152



HLAE s

B1

Dimensions

5

NEUGART
LS

L1

L2

L2 L3

D26
D20"

iy

+

-

o

/

/ 1
- |

\ T

\Q |

~

L21™

)
——
H1
D21
‘
F
!
|
|

L4 [}

L5
L6,

D23"

L20™

L7

EIRAHEEE HLAE070 /1 & / METFREMSEH / 11 mm $UERYS / BEBIEZ - 8—%= /B5 BHUEZHKR

Drawing corresponds to a HLAEO70 / 1-stage / output shaft with feather key / 11 mm clamping system / motor adaptation — one part / B5 flange type motor

O BARSHREHN/ BIRYEZME. AR www.neugart.com T Tec Data Finderd$t st & MEALER BAEFERBNEZLART.

(M The dimensions vary with the motor/gearbox flange. The input flange dimensions can be retrieved for each specific motor in Tec Data Finder at www.neugart.com

JUER~F@ Geometry?® HLAEO70 HLAE090 HLAE110 p® |Code
MR RELTHEER Pitch circle diameter output D1 56 75 0
MWLHMER Shaft diameter output D3 h7 14 20 25
mLmmEER Shaft collar output D4 20 25 35
mtisEMLEeER Centering diameter output D5 h7 40 58 65
HIRER Housing diameter D6 69 88 109
REBL x RE Mounting thread x depth G1 4x M5x11 M6x12 M8x20
BRNEK Min. total length L1 1235 146 191 !

135,5 166 219 2

k1 ) 53,0 68,0 89,0 1
FERKE Housing length L2 e o o )
Htminic Shaft length output L3 4,7 50 66,5
W EA A RE Centering depth output L7 10 13 14
Bl E 12j6/k6 Motor shaft diameter j6/k6 D20 TREENE 163/164 T
WANIRS R RGERE Clamping system diameter input| D26 More information on page 163/164
T RIMLH (DIN 6885-1) %‘I}\lp‘égsagf)‘” fth feather key A 5x5x20 A6x6x25 A8x7x35
4% (DIN 6885-1) Feather key width (DIN 6885-1) B1 5 6 8
AP0 (DIN6ses-1) | oo IO BoAnateaner -y 16 225 28 .
E5HBHIEES Shaft length from shoulder L4 . 26 32 45
THEKE Feather key length L5 20 25 35
2 hinREE S Distance from shaft end L6 2 2,5 5
(7L (DIN 332 DR F Center hole (DIN 332, type DR) c M5x12,5 M6x16 M10x22
P b=tk Smooth output shaft
ZiMBRIER Shaft length from shoulder L4 ‘ 26 32 45 8

@ FRAKIRS B RImm
@ RERHLR

HLAE

) Dimensions in mm
) Number of stages

153



HLAE

HLAE &%

HLAE ZHEH
HLAE Sealing kit

Accessories

veockrT
L

: Jmimy 5
i ‘ ; >
I I r
| b
—
D35
D34
HLAE BEA R B R EMBEHEH A RESEAIBENIERRY, HAUEEERTIRNEENERRERE.
AR ERM T RARENRIEN, FRIXEERERmEHIERINER.
The freely positionable sealing kit for the HLAE provides maximum hygienic protection, making it universally suitable for different machine side thicknesses.
It therefore gives you maximum flexibility for connecting to the machine while satisfying the strictest hygienic requirements.
HLAEO70 HLAEO090 HLAE110
R Art. No. 63911 63858 64130
IME Outside diameter D34 75 95 120
Az Inner diameter D35 40 58 65
2K Overall length L32 mm 8,5 9,5 1,5
BEKE Disc length L34 3 3 3
XHAFEE Width across flats SW30 8 10 13
BEx BT x KE Quantity x screw x length G30 4 x M5x16 4 x M6x20 4 x M8x25

EATFEHEHNRESE, ESEHRMAR A (www.neugart.com).

HESEE

1 x AR R

1 x EPDM 4Bl ($1 3% & N A R Z L)
1 x EPDM ZZ3 B ($T X RIRHLA ZEE 1)

4x USIT-VA 83&T EPDM i ZHIZE ), 4 EHEDGHR

Ax DAEBNGIHAENIEST (FRARHE) , 4 EHEDGHIRAE

154

CAD##E T &tk : www.neugart.com
For correct installation of the sealing kit, please refer to the corresponding mounting instructions (www.neugart.com). CAD data can be accessed at www.neugart.com

Included parts

1 x electropolished stainless steel disc

1 x EPDM sealing ring (seal to application)

1 x EPDM sealing ring (seal to gearbox)
4 x USIT-VA with EPDM coated sealing washer, EHEDG-compliant
4 x Hygienic Design stainless steel screw (electropolished),

EHEDG-compliant



#12185%  For your notes NEUGART

155





